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EEX S ET4 3 x 5 BiIE L
1 (4t FE Bk F BT & K £E 832 | 1010 1842| -2
2 |2 K BT W = f#8 1077| 1333| 2410| 5
3 |AEE/MEHIEER—)| 1022| 1,260| 2282| -18
4 |& X fE| 1,157 | 1457 | 2614| -24
5 |# /0O B & R £ 270 318 588 | O
6 |F H % # EOE 228 248 476 | -14
7 |F # HT B & BT A &= £8 833 953 | 1,786 | -11
8 PR /NMNEREI=E 330 388 718 | -4
9 |LEAMREELEESE2— 141 146 287 | -4
10 BABERDMNERAKE E 687 759 | 1446 | -1
11 |ALFr—/ALRaZ2=FTo8| 1039| 1,194| 2233| -9
12 |BfaSa=F«st>42—| 1012 1163| 2175| -5
13 | KMEAZa=-TstEo32— 584 693 | 1277| -19
14 (A & @ ®& F| 1293| 1560| 2853| -5
15 |RREIAIa=FqsE24—| 1,021 1221| 2242| 3
16 | ¥ B & K fE 337 418 755 | 1

a&t 11,863 | 14,121 | 25984 | —-107




